Jotron AS

Bill Of Material Date 20.05.2010
ltem 84558 TX Main Module TA-7650C Production

Version

Item Name / Description Makes no. / Additional name Sub pos.
84006 VDL TX Main Board 001
84557 Modulator Module TA-7650C VDL 002
82479 Nutpiece Rev.B 003
98245 SCREW M3x6 PANH. M3x6 DIN 7985MRX-SR-A4-POZ 004
96993 Washer, Star, M2,5 M2,5 DIN 6798A A4 005
95967 SCREW M2,5x6 PANH. M2,5x6 DIN 7985 A2 006
96699 Washer ,Star, 3mm M3 DIN 6798A A4 007
82523 RJ45 Single PCB mount Tyco 5406299-1 JP008
99230 Switch with pushbutton. ALPS RKO09710ELCO7 SW001



